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[bookmark: _GoBack]Write the Sentence as an Equation:


Twelve years older than Theresa’s age is 33.____________________________
The quotient of 63 and a number is 21._________________________________
The sum of 9 and a number is 23._____________________________________

Write two expressions that are equivalent to 4(2x + 7y). 
______________________________ and  _____________________________.


 In the expression 2(a + b), what are the two factors? ________ and _________.

6.EEA.2c—Evaluating Expressions
Evaluate the expression when a = 4 and b = 8; Show your work.
1.	65  +  b  =  				          2.	 b  -  a  




3.	96    (ab)  					4.	14a    b  


5.	7ab  	
6.EE.A.3—Combining Like Terms 

1.	x   +   8   +   3x   +   7   =   _____________________________________
2.	x2   +   3x2   +   4x   =   ________________________________________
3.	3(x  +  2)   +   9   =   __________________________________________
4.	1y2   +   4y   +   5y2   +   y    =   _________________________________
5.	3xy   +   3x   +   4y   +   1y   +   x   =   _____________________________
6.	2   +   3(x  +  7)   =   _________________________________________
6.EE.B.6—Write the Equation and Solve

Zeinab has 7 trophies less than Zack.  She has 26 trophies in all.  How many trophies does Zack have? 

Write the equation.     __________________ 
Solve:



Solution:    ___________________ 
Write your solution in a complete sentence.
________________________________________________________________________________________________________________________________________________________________________________________________
6.EE.B.5--Solve the Inequality and Graph the Answer on a Number Line

1.      x + 9  ≥  25   (Show your work)			
Solve the inequality and graph it.

			[image: A description...]




Write three solutions for the inequality.
1) __________________ 2) ______________________ 3) ________________


Explain why you knew that the three numbers you wrote were solutions to the inequality.
_______________________________________________________________________________________________________________________________________________________________________________________________







2.       4 x  ˂  48  (Show your work)
Solve the inequality and graph it.

			[image: A description...]




Write three solutions for the inequality.
1) __________________ 2) ______________________ 3) ________________


Explain why you knew that the three numbers you wrote were solutions to the inequality.
_______________________________________________________________________________________________________________________________________________________________________________________________




























Solve and graph the following inequalities:

1.   x  +   25   >   50					Show Work Here: 





[image: ]
Is x  =  30 a solution to the inequality?			Yes	or	No
Is x  =  19 a solution to the inequality?			Yes	or	No
Is x  =  10 a solution to the inequality?			Yes	or	No
Is x  =  35 a solution to the inequality?			Yes	or	No
_______________________________________________________________________________________________________________________________________________________________________________________________

2.    8.8  <   x   +   5.5					Show Work Here: 




[image: ]
Is x  =  4.1 a solution to the inequality?			Yes	or	No
Is x  =  3.2 a solution to the inequality?			Yes	or	No
Is x  =  2.4 a solution to the inequality?			Yes	or	No
Is y  =  5.1 a solution to the inequality?			Yes	or	No

How do you know if these numbers are a solution to the inequality?
________________________________________________________________________________________________________________________________________________________________________________________________
oleObject2.bin

image3.emf

image1.wmf
¸


oleObject1.bin

image2.wmf
¸


